
Be the Teacher Answers
1. 2 6 2 6

× 1 4 × 1 4

1 0 4 1 0 4

2 6 0 2 6 0

3 6 6 3 6 4

Incorrect: 26 × 14 = 364

2. 3 2

× 1 5 ×

1 6 0

3 2 0

4 8 0

Correct

3. 2 8 2 8

× 2 3 × 2 3

8 4 8 4

5 6 0 5 6 0

5 4 4 6 4 4

Incorrect: 28 × 23 = 644
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4. 5 1 5 1

× 1 8 × 1 8

4 0 8 4 0 8

5 1 5 1 0

4 5 9 9 1 8

Incorrect: 51 × 18 = 918

5. 2 6 2 6

× 3 2 × 3 2

5 2 5 2

1 8 0 7 8 0

1 3 2 8 3 2

Incorrect: 26 × 32 = 832

Mark out of 5: 1/5
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1. 2 4 6 2 4 6

× 2 3 × 2 3

7 3 8 7 3 8

4 9 2 4 9 2 0

1 2 3 0 5 6 5 8

Incorrect: 246 × 23 = 5658

2. 1 7 9 1 7 9

× 2 5 × 2 5

8 9 5 8 9 5

3 5 8 0 3 5 8 0

4 3 7 5 4 4 7 5

Incorrect: 246 × 25 = 4475

3. 4 1 7

× 1 6 ×

2 5 0 2

4 1 7 0

6 6 7 2

Correct
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4. 3 2 5 3 2 5

× 2 7 × 2 7

2 2 7 5 2 2 7 5

6 5 0 6 5 0 0

2 9 2 5 8 7 7 5

Incorrect: 325 × 27 = 8775

5. 4 6 1 4 6 1

× 3 2 × 3 2

9 2 2 9 2 2

1 3 8 3 0 1 3 8 3 0

1 3 7 5 2 1 4 7 5 2

Incorrect: 461 × 32 = 14 752

Mark out of 5: 1/5
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1. 5 6 3 4 5 6 3 4

× 2 3 × 2 3

1 6 9 0 2 1 6 9 0 2

1 1 2 6 8 1 1 2 6 8 0

2 8 1 7 0 1 2 9 5 8 2

Incorrect: 5634 × 28 = 129 582

Comment: Forgot to put the 0 in the ones column before 
multiplying the tens. 

2. 8 2 3 5

× 1 7 ×

5 7 6 4 5

8 2 3 5 0

1 3 9 9 9 5

Correct

3. 2 4 0 7 2 4 0 7

× 2 6 × 2 6

1 4 4 0 2 1 4 4 4 2

4 8 3 4 0 4 8 1 4 0

6 2 8 4 2 6 2 5 8 2

Incorrect: 2407 × 26 = 62 582

Comment: First line – needed to carry over the 4 from the ones 
column calculation to the tens column. Second line – 0 × 2 = 0
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Mark out of 5: 1/5

4. 3 7 1 3 3 7 1 3

× 3 2 × 3 2

7 4 2 6 7 4 2 6

1 1 1 3 9 1 1 1 3 9 0

1 8 5 6 5 1 1 8 8 1 6

Incorrect: 3713 × 32 = 118 816

Comment: Forgot to put the 0 in the ones column before 
multiplying the tens.

5. 8 6 1 3 8 6 1 3

× 2 4 × 2 4

3 2 4 5 2 3 4 4 5 2

1 7 2 2 6 0 1 7 2 2 6 0

2 0 6 7 1 2 2 0 6 7 1 2

Incorrect: 8613 × 24 = 206 712

Comment: Remember to carry over the 2 tens from 6 x 4 (24) when 
calculating 8 x 4 (32 + 2)
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